



10 X 10:10 critics, 100 architects

By Editors of Phaidon Press

Download now

Read Online 

10 X 10:10 critics, 100 architects By Editors of Phaidon Press

10 x 10 is a kaleidoscopic view of new architecture in the world today. 100 emerging architects have been selected by 10 leading international architecture curators and critics. Each critic has also selected and listed 10 cultural references - including designed objects, books, films, themes, and movements - to reveal a dynamic range of influences in today's design environment. The book is unique in architectural publishing and provides a truly global view of the most imaginative and important architects not only of today but also of the future. This monumental book is itself architecturally designed, with a plastic lenticular three-dimensional cover and an innovative shifting grid page design, which packs in over 1,500 striking images in 468 pages. The absorbing tome is presented alphabetically by architect in an dynamically direct A-Z format that results in arresting sequences with the turn of each page, making 10 x 10 an invigorating examination of contemporary architecture and culture. The book features over 250 buildings and projects dating from 1990 to the present. These consist of recently-built works, as well as projects currently under construction. 10 x 10 journeys around the globe from multi-million dollar schemes such as the Yokohama International Port Terminal in Japan by Foreign Office Architects; through projects such as the tiny timber summer house in Risør, Norway designed by Carl-Viggo Holmebakk; to the digital world of the Guggenheim Virtual Museum by Asymptote Architecture. From traditional to conceptual, this book mirrors the immensely diverse factors that form and fuel architectural practice and experimentation, to illustrate the most innovative responses to changing technologies and social conditions. Encompassing environmental, industrial, urban, technological, and virtual dimensions, 10 x 10 showcases an abundance of homes, workplaces, religious centres, and places of entertainment. This is a vigorous battlefield of architectural ideas: each critic has been specially commissioned to write an essay supporting their selection of architects, in some cases challenging the selections of other critics, and also giving their own view on contemporary trends in architecture. 10 x 10 is not only an essential source book, but the ultimate design object celebrating the architectural future.



[Download 10 X 10:10 critics, 100 architects ...pdf](#)

 [Read Online 10 X 10:10 critics, 100 architects ...pdf](#)

10 X 10:10 critics, 100 architects

By *Editors of Phaidon Press*

10 X 10:10 critics, 100 architects By Editors of Phaidon Press

10 x 10 is a kaleidoscopic view of new architecture in the world today. 100 emerging architects have been selected by 10 leading international architecture curators and critics. Each critic has also selected and listed 10 cultural references - including designed objects, books, films, themes, and movements - to reveal a dynamic range of influences in today's design environment. The book is unique in architectural publishing and provides a truly global view of the most imaginative and important architects not only of today but also of the future. This monumental book is itself architecturally designed, with a plastic lenticular three-dimensional cover and an innovative shifting grid page design, which packs in over 1,500 striking images in 468 pages. The absorbing tome is presented alphabetically by architect in an dynamically direct A-Z format that results in arresting sequences with the turn of each page, making 10 x 10 an invigorating examination of contemporary architecture and culture. The book features over 250 buildings and projects dating from 1990 to the present. These consist of recently-built works, as well as projects currently under construction. 10 x 10 journeys around the globe from multi-million dollar schemes such as the Yokohama International Port Terminal in Japan by Foreign Office Architects; through projects such as the tiny timber summer house in Risør, Norway designed by Carl-Viggo Holmebakk; to the digital world of the Guggenheim Virtual Museum by Asymptote Architecture. From traditional to conceptual, this book mirrors the immensely diverse factors that form and fuel architectural practice and experimentation, to illustrate the most innovative responses to changing technologies and social conditions. Encompassing environmental, industrial, urban, technological, and virtual dimensions, 10 x 10 showcases an abundance of homes, workplaces, religious centres, and places of entertainment. This is a vigorous battlefield of architectural ideas: each critic has been specially commissioned to write an essay supporting their selection of architects, in some cases challenging the selections of other critics, and also giving their own view on contemporary trends in architecture. 10 x 10 is not only an essential source book, but the ultimate design object celebrating the architectural future.

10 X 10:10 critics, 100 architects By Editors of Phaidon Press Bibliography

- Sales Rank: #476516 in Books
- Brand: Phaidon Press
- Published on: 2000-06-13
- Ingredients: Example Ingredients
- Original language: English
- Number of items: 1
- Dimensions: 12.00" h x 2.00" w x 12.00" l, 1.10 pounds
- Binding: Hardcover
- 468 pages



[Download 10 X 10:10 critics, 100 architects ...pdf](#)



[Read Online 10 X 10:10 critics, 100 architects ...pdf](#)

Editorial Review

Users Review

From reader reviews:

Gary Kruse:

Do you have favorite book? In case you have, what is your favorite's book? Book is very important thing for us to understand everything in the world. Each guide has different aim or maybe goal; it means that publication has different type. Some people really feel enjoy to spend their time for you to read a book. They may be reading whatever they consider because their hobby is definitely reading a book. What about the person who don't like looking at a book? Sometime, man or woman feel need book once they found difficult problem or exercise. Well, probably you will want this 10 X 10:10 critics, 100 architects.

Adam Sea:

Nowadays reading books be a little more than want or need but also work as a life style. This reading routine give you lot of advantages. The huge benefits you got of course the knowledge the rest of the information inside the book in which improve your knowledge and information. The details you get based on what kind of book you read, if you want drive more knowledge just go with knowledge books but if you want really feel happy read one together with theme for entertaining for example comic or novel. The particular 10 X 10:10 critics, 100 architects is kind of guide which is giving the reader erratic experience.

Jose Holmes:

Many people spending their time by playing outside together with friends, fun activity having family or just watching TV all day every day. You can have new activity to shell out your whole day by reading through a book. Ugh, ya think reading a book really can hard because you have to take the book everywhere? It ok you can have the e-book, having everywhere you want in your Smart phone. Like 10 X 10:10 critics, 100 architects which is keeping the e-book version. So , why not try out this book? Let's notice.

David Myers:

You can find this 10 X 10:10 critics, 100 architects by go to the bookstore or Mall. Merely viewing or reviewing it can to be your solve problem if you get difficulties to your knowledge. Kinds of this guide are various. Not only by simply written or printed but also can you enjoy this book by simply e-book. In the modern era just like now, you just looking of your mobile phone and searching what your problem. Right now, choose your personal ways to get more information about your reserve. It is most important to arrange you to ultimately make your knowledge are still change. Let's try to choose appropriate ways for you.

Download and Read Online 10 X 10:10 critics, 100 architects By Editors of Phaidon Press #0JNM4GVY358

Read 10 X 10:10 critics, 100 architects By Editors of Phaidon Press for online ebook

10 X 10:10 critics, 100 architects By Editors of Phaidon Press Free PDF d0wnl0ad, audio books, books to read, good books to read, cheap books, good books, online books, books online, book reviews epub, read books online, books to read online, online library, greatbooks to read, PDF best books to read, top books to read 10 X 10:10 critics, 100 architects By Editors of Phaidon Press books to read online.

Online 10 X 10:10 critics, 100 architects By Editors of Phaidon Press ebook PDF download

10 X 10:10 critics, 100 architects By Editors of Phaidon Press Doc

10 X 10:10 critics, 100 architects By Editors of Phaidon Press Mobipocket

10 X 10:10 critics, 100 architects By Editors of Phaidon Press EPub